                                                      VJEŽBA 

IZRAČUNAJ:
78 + 7 =                                      63 - 4 =                                53 - 7 =
46 + 8 =                                      24 - 7 =                                48 + 6 =
75 + 6 =                                      53 – 5 =                               26 – 8 =
38 + 3 =                                      84 – 6 =                               79 + 5 =
17 + 4=                                       30 – 8 =                               55 – 6 =
59 + 9 =                                      46 – 7 =                               33 + 7 =

54 + 6 + 7 =
6 + 67 - 4 =
46 - 8 + 6 =
53 - 7 - 5  =
80 - 8 - 9 =

45 + (17 – 8 ) =
78 + ( 16 – 9 ) =
5 + ( 48 + 6 ) =
80 – ( 13 – 8 ) =
66 – ( 20 – 12) =

( 43+ 9 ) + 6  =
( 56 – 8 ) – 7 =
( 29 + 5 ) – 5 =
( 74 – 9 ) – 7 =
( 49 + 7 ) + 9 =

2. Od razlike brojeva 45 i 7 oduzmi razliku brojeva 15 i 6. (upotrijebi zagrade )


